' GROUP 6 STRUCTURE

1. CAB AND ACCESSORIES MOUNTING

Sun roof assy—4

Rain guard assy

Striker

1609S9CM09

- Tightening torque
ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 M6x1.0 1.4410.3 104122 4 M10Xx1.5 69714 49.97101
M 8x1.25 25105 18.113.6 5 M12x1.75 | 12.8+3.0 92.6+21.7
M10x1.5 47+09 34+6.5

9-10



2. CAB INTERIOR MOUNTING

_ Tf1 . Storage box cover

Seat—

Console box(RH) o

2
%6 e k Storage box
Seat base N ° s
& S
< @ , Rear mid trim
\\.@ [\ a8 g \Console box(LH)
i ., A .

Safety lever

Foot rest .
Viscous mount

Foot rest bracket Bottom plate

1609S9CM10
- Tightening torque
ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 | M6X1.0 0.4910.1 3.5T0.7 5 M8x1.25 | 4.05+0.8 29.31+5.8
2 | M6X1.0 1.0510.2 76114 6 M10Xx1.5 6.911.4 49.9710.1
3 | M8Xx1.25 25*05 18.1+3.6 7 M10x1.5 8317 60.012.3
4 | M8x1.25 3.4310.7 24.8+51 8 M16x2.0 290.7+45 215325

9-11



3. COWLING MOUNTING

Engine hood

Side cov ,
T { ¢
/ °
,"/ // g

(o

Side cover(LH)

1609S9CM11

- Tightening torque

ltem Size kgf - m Ibf - ft

1 M 8x1.25 1.05+0.2 76t14
2 M12Xx1.75 12.8£3.0 926+21.7

9-12



4. COUNTERWEIGHT AND COVERS MOUNTING

Handle pipe

Counterweight

— Fuel tank

nk cover

feA ‘ 1 S : R \Upper frame
Tool box B ' Sl
i—;;

Engine under cover

2 Swing bearing grease
drain cover

Pump under cover

Hyd tank under cover

Fuel tank under cover

MCYV under cover

Cab under cover(B)

Cab under cover(A)

1609S9CM12

- Tightening torque

ltem Size kgf - m Ibf - ft

1 M10Xx1.5 69t14 49.9710.1
M12x1.75 | 12.8%3.0 92.6121.7
M30<3.0 199+30 1439217

9-13





